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Let a, b, xandy be real numbers such that a — b = landy # 0. If the complex number z = x + iy
o az+b
satisfies Im

z+1
14 /1 =) 1+ 4/1+ 5% @1+ /1 —3>(d)—1— /147
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) =y , then which of the following is (are) possible value9s) of x? (a)
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1
If 244+ 1= \/31 (A) 2% is purely real (B) z represents the vertices of a square of side 27 (C) 2% is
3
purely imaginary (D) z represents the vertices of a square of side 27
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If |z2| = landz # + 1, then all the values of lie on a line not passing through the origin

-z
2| = /2 the x-axis (d) the y-axis
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If the cube roots of unity are 1,w,w?, then the roots of the equation (z — 1)3 +8 =0 are
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1,14 2w,1+4 2w?b. —1,1 — 2w,1 — 2w?c. —1, — 1, — 1d. none of these
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If w is an imaginary cube root of unity, then (1 + w— w2)7 is equal to 128w (b) — 128w 128w? (d)
—128w?
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(cos 260 — isin 20)*(cos 40 + isin46) °
(cos 30 + isin 30) " *(cos 30 — isin 36) ~°

Express the following in a + ib form:
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lfz = w— w? — 2 then , the value of z* + 32® + 22° — 11z — 6 is (where w is a imaginary cube
root of unity)
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If |z — 1| < 2andlwz — 1 — 2' = a where w is cube root of unity , then complete set of values of a

w
ﬁc_ﬁ 1 <a§%+?d.0§a§4

isO§a§2b.l§a§ — =
2 2 2 2
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The common roots of the equation Z% + 222 +2Z 4+ 1 =0and Z'% + 7' 1 1 = 0are
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T . T
Let 2z = cos <2kﬁ) + isin <2k1—0); k=1,2,34,...,9 (A) For each z; there exists a z; such that
2. zj = 1 (i) there exists a k € {1,2,3,...,9} such that 212 = 2
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Find the complex number satisfying the system of equations 25 + W' = Oand2Pw! = 1.
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Find the equation of tangent to “y=int_(x"2)(x*3)(...
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-1 1
If z = z'log(2— \/3), thena.cosz = — 1b. Tc.ld. 3
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Ifiz* + 1 = 0, then prove that z can take the value cos 7/ 8 + isin /8.
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If n is n odd integer that is greater than or equal to 3 but not a multiple of 3, then prove that
(z +1)" = 2" — 1is divisible by * + 2 + z.
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Find the complex number w satisfying the equation 2% = 8i and lying in the second quadrant on the
complex plane.

® Watch Free Video Solution on Doubtnut
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Let complex numbers « and — lies on circles (x—z0)" +(y—yo)” =7 and
16 - 182624 (x — aco)2 + (y — yo)2 = 472 respectively. If zg = x + iy, satisfies the equation 2\zo|2 =r24+2

then || is equal to
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Let w = /3 + z% and P={w":n=12,3,.... }, Further

1 1

17 - 182685 H, = {z € C:Re(z) > 5} and Hy = {z € c:Re(2) < — 5} Where C is set of all complex

numbers. If z; € PN Hy, z3 € PN Hy and O represent the origin, then £ 2,075 =
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™ . iy

Let z;, = cos <2k1—0) + isin <2k1—0); k=1,2,34,...,9 (A) For each z;, there exists a z; such that
18 - 182732 2. zj = 1 (i) there exists a k € {1, 2,3, ..., 9} such that 21z = 2,

® Watch Free Video Solution on Doubtnut

JEE ADVANCED SUPER 25 REVISION SERIES - COMPLEX NUMBERS

Let z be a complex number such that the imaginary part of z is nonzero and a = 224+ 2+ 1is real.
19 - 182760 Then a cannot take the value
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If z is any complex number satisfying |z — 3 — 2i| < 2 then the maximum value of |2z — 6 + 5i] is

20 - 182799
® Watch Free Video Solution on Doubtnut
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Let w = e%w and a,b,c,x,y, 2 be non-zero complex numbers such that
2 2
- a+b+c==z,a+ bw—+ cw* =y,a+ bw* + cw = z.Then, the value of
2 2 2
la|” + [b]" + |c|
® Watch Free Video Solution on Doubtnut
JEE ADVANCED SUPER 25 REVISION SERIES - COMPLEX NUMBERS
99 - 182955 The set of points z |z — i|z|| = |z + 4|z | | is contained in or equal to
® Watch Free Video Solution on Doubtnut
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Let A, B, C be three sets of  complex number as defined below:
23 - 183513 A={z:Im > 1}, B = {z:|z— 2| = 3},C: {z: Re((1 — i)z) = +/2} The number of elements

intheset AN BN Cis
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A particle P starts from the point 2z = 1 + 2¢, where ¢ = 4/— 1 . It moves first horizontally away from
origin by 5 units and then vertically away from origin by 3 units to reach a point 2. From z; the particle
™

moves /2 units in the direction of the vector ¢ —1—3 and then it moves through an angle 5 in

24 - 183594
anticlockwise direction on a circle with centre at origin, to reach a point 2o The point 25 is given by
6+ 7i(b)—7+6:7+ 6¢(d)—6+ 7¢
® Watch Free Video Solution on Doubtnut
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If |2| = landz # =+ 1, then all the values of lie on a line not passing through the origin
-z
25- 183733 2| = +/2 the x-axis (d) the y-axis
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